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1 wiIR AKX (B i} X ) 2% 219 =
2 HIE =KX (& 5 X 2)  4F 205 =
3 = Mt (BB @ %2 ki K F) 2% 200 =
4 K @msv (B & 2 B K #F) 14 195 &
5 A | (& £ X ) 3F 175 &
6 LT BA (E @ 2 k X %) 14 170 &
7 B (3 @ £ KX %) 3fF 160 =
8 A+ BN (i @ £ K 2F) 2fF 150 &=
8 fEXx B (BE @ 2 kK K #) 3F 150 &
10 L=t Hw (KRB FEHKXKZE) 2% 145 /&
10 BH ¥E (BEH & % kR X %) 2% 145 /=
12 Hfh = (B & % K X %) 44 135 =
13 g B (& £ X F) 4% 125 =
13 X & (& B X ) 2% 125 &
15 HE & (i @ £ K %) 2% 120 &
16 R mx (B @ 2 Kk X ®) 25 95 =
17 ¥E WA (X B X %) B3fF 90 =
18 WA BN (3 @ fBE K F) 3F 85 m
19 =% =3 (i B X Z) 3 80 =
19 LR & (X @ fE K %) 44 80 &
21 == 3= B X ) 148 77 |
22 Gk BR O ( FE & X %) 2% 72 |
23 £F ® (R & # X %) 148 70 =
24 Mt X (R O# OE ¥ K F) 3F 69 =
25 AE ME (R & #£ X F) 3% 65 &=
25 figp XER (R & # K %) 3% 65 =
25 B #E  (ak B X Z) 44 65 &
28 = 2 (m 8 B ¥ XK 2) 25 64 1=
29 T &F}  O(H ] X ) 24 60 =
29 #E & (X 3 X 2) 148 60 5
29 K5 MR (X ® X %) 4F 60 =
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1 BH X& (R & # X %) 2% 290 M=
2 TR B (#FLERFERKE) 3 260 M=
3 BR #F (A & # X =) 14 250 &
4 mb B (B B ZF Bk X F) 44 220 =
5 =H Bf (#FLBERFERKE) 3F 215 =
6 UE P (BFREXFERXZE) 3 190 &
6 BHxXEF (R & &£ X %) 2% 190 /&
8 BAUOMNY (R & # X %) 4% 165 =
9 AR EBER (#BFREXFERRZE) 3 160 =
10 #E #Ex (i @ fE K F)  4F 150 /&
11 FRptE (B @& 2 kR XK 2) 3F 145 /=
12 2R Bx (& B X 2)  4F 135 &
13 % XK (B 2 X 2) 3% 125 =
14 HiEE XEB (& = X 2) 14 120 &
15 Ben M (#E 22 X 2) 4F 115 &
16 Mk # (i @ fF K 2F) 145 105 &
16 = Bt (& B X Z) 145 105 &
16 N W (B B % R K ®) 14 105 &=
19 tmE B (B @A %2 Rk K 2) 3% 100 =
19 8 R (X @ fE K %) 2% 100 =
21 T EE G- & X 2) 3 90 =
21 M F ( HFRERXFERKRZE) 45 90 =
23 KEEXF (#HFREXRFERKRE) 2% 85 m
24 FINEEE (B i} X 2) 14 84 &
25 ML =T (2 @ £ K F) 3 80 =
26 =R B/ (& = X 2) 3F 75 =
26 Fr RE (B & X 2)  4F 75 =
28 B TR (B @& % kR X %) 2 65 =
28 #E wmE (K E N X F X F) 2% 65 &=
30 IWAEHE (KREEBEXRFKXKE) 3F 64 =



